Atomic Energy Central School No. 4, Rawatbhata
Periodic Test-111 (2019-20)
M.Marks - 40 Class IX, English Time Allowed —1 : 30 Hrs

GENERAL INSTRUCTIONS :
All questions are compulsory. However, in some questions internal choices have been given.
SECTION - A (READING)
Q.1. Read the passage and answer the questions that follow. (8)
1. Scientists who study the rocks, minerals, landforms, and the history of the earth can tell what kind of plants and

animals lived on the earth a long time ago. These scientists are called geologists. One way that they are able to do this
is by the study of fossils. Fossils may be the actual remains of plants or animals, impressions of them in rock, or the
tracks of animals as they walked or crawled.
2. Most fossils are formed in the waters covering the continental shelves, in warm, shallow, inland seas, and in large
swamps that covered large parts of the land in post geologic time. When the animals of these waters die, their remains
are deposited on the floor of the waterbody where the fleshy part of the animals decay. The skeletal portion of the
body is partially replaced by minerals and other sediments. If this takes place in just the right manner, a fossil is
formed. Since rock sediments are involved in the formation of fossils, it is not surprising that one finds many fossils in
sedimentary rock layers. Plant fossils are found in the areas that were once swamps. There are four principal kinds
of fossils: original remains, replaced remains, moulds and casts, and impressions.

Answer any eight of the following questions briefly. (1x8)
What can geologists who study rocks, minerals, and the history of earth tell?
Who are called geologists ?
What happens to the remains when animals living in warm and shallow water die?
Why are many fossils found in sedimentary rock layers ?
What enables the scientists to get information about the plants and animals that lived on the earth a long
time ago?
6. Where are most fossils formed ?
7. How do dead animals contribute to the forming of minerals ?
8. What are the four principal kinds of fossils ?
9. Find the word in paragraph - 2 which means the same as ‘decomposes’.

SECTION B — (WRITING AND GRAMMAR)
2. Cleanliness is important for a peaceful mind and a sound health. Mahatma Gandhi rightly said that *“ Cleanliness
is next to Godliness”. Based on this fact alongwith inventing your own ideas write an article on ‘swachh Bharat

o s wdhE

Abhiyaan’ or ‘Clean India Campaign’. 10
SECTION C — (Grammar)
3. Fill in the blanks with the suitable options. 4x1=4
Last week the Annual Function of our school (a) .................... . The Mayor of the town (b) ....................... to
grace the occasion as the chief guest. The function was inaugurated by the Principal (¢) .................... the chief
guest (d) ......cooeviiiiininnn, the prize to the winners.
(@) (i) s celebrated (ii) had been celebrated
(iii) was celebrated (iv) shall be celebrated
(b) (i) was invited (ii) has been invited
(i) isinvited (iv) shall be invited
(c) (i)or (i) where
(iit) while (iv) when
(d) (i) will distribute (ii) was distribute
(iii) distributed (iv) was distributed

SECTION - C (LITERATURE)
4. Answer the following questions in 20 — 25 words each.

a. Why did Einstein wish to continue his education in German speaking Switzerland? 2
b. Why did the last leaf not fall ? 2
c. The cat and the author are very fond of each other. How has this been shown in the story? 2
d. What does the ‘earth’s diurnal course’ imply ? 2
e. Who helped the child after losing his parents ? What did he offer to buy him ? 2
5. Answer the question in about 100 words. 8
How did the author get Baba/ Bruno back ? What arrangements were made for him ?
OR

How does the poem ‘No Men are Foreign’ give the message of unity and commonality of all mankind ?
Give a reasoned answer.




CLASS 09 - HINDI A
PERIODIC TEST - IIT 2019-2020
Time Allowed: 1 hour and 30 minutes Maximum Marks: 48

General Instructions:

Section A

1. ot meria # wergds ggar g@ 1y st & S faf@g- (8) [4]
Gepfaat & fAufor # ges A1 aes a1 SR ST 1 aTer @ a1 8 | Sl & Hel Sutard af urd: a4t gEehd
3R g 321 | eh AT dch GHTA T8 d 8, fohg aTg] SUTSTT | SR Sra<d 3171 & | AETT AT ST HEepiad Al
a4 g1 INTeH Jg! ¢ foh a8 g9 91U U il RuRT & HYh ST &, Srue Afa-Aifa 6 duar 9 s 78t
g1 deft1 31t & g A AT G ST Gxepfadt & e & sraar sifd v g1 My &, G&pfaal sr ureuRen
uy off 3= g1 T 81 e U fAdft uvre AR 3 R U 3@ 8, e arrde = g4 W eruHt dpfa & ufa
Gerareg s e 81 gAY syt v &t 81 ag gHY d=ies gelerar 1 %l 21
It TR ot Big, fadsft d&pfa & fadergl srgerur @ g9R AL 7RG & Sl 39 ugd @l 8, a8 fonddt
AEUHY STHTEeh egi<h @ fodt T8t 8 | WRdTg Geepfcr & T 3R Tg 0T hl 3ogd &1 X1 81 37ct: TSl o AFTeh
g A gH o off fd=ft depfar & Sfida acl il g1 & | die 981 @11 =g, fohg sruit Fivepfaes fAfd &t
IUET e g1 | Ig WRIdeia A 1 TRAT & FFU g1 8 | Ig TR0 @1 11y o I Y srretteryaria-
foRzott @ tie &t =g St Shemarfe QA fohg sroet STte ofR srut St & formm anls den Sfifaa =8t <@
GehdT | Sffadehl STIehRuT 31T T 81 UaTa g1
i. Sy g F Yxpfordl TR IRER oW URH g4 T U@ HRUT Id1371 (2)
ii. g9 ST+t Hepfar & Uty efehTey T 81 1Y 87 (2)
iii. IE TG AT gAR Ul T8 ISt S R 8? (2)
iv. g7 Ut Aitpiaen duar dht I0em = A1 e Fahd? (1)
V. ITYh T & forg Iugeh eftve gl (1)

Section B

2. FEgaR sk fafew- [21
frafarfa et & uges Suwf ud ga ereg s sedh farfag- (At &) (2)
i. dquf
ii. ufafes
iii. YT
e 9o vl & T Siea a9+ aTet <reg forferg- (gt &) (2)
i +amH
ii. afoea +§
1ii. &1 + 4T

3. fafefaa amife faug fifSe wg gamg «f Rifae- (el =) [2]
i R
il. ArETER
iif, =g
iv. et
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4.

10.
11.
12.

L. 3ref & 3myR R fFrafafad aret & 9 faf@e- (@R a) (2) [2]
i, Rd AT 8?
ii. o erifa s9d |
iii. TRY e & AT B |
11 aref & emuR R fFafarfaa aradt 7 uftads fifere- (Fei @) (2)
i. I ST AT 8 | (AT aTeRT)
ii. TfAeAT TSTS W @Y 8| (Hegardadh are)
iii. 7 THR 89 @1 81 (3TaTdah a1eq)
faferfaa aregian & srdar Ae uge o fofg- (el ar) [2]
i " & R STTeRR STRTI gl UT L W S AT
ii. Gk 781 A wd o &7 Tt amal
Tt ST 9H g1 bl e HAY a4 S ||
iil. Ig T g a1 A9 I Y BT, &7 WR KT S A8] GHA | AT
iv. g9 &1 U & @ = urdt enfan
TR SRt STeT T8, T TR i
V. Th+Ieh theich d AN[HT ATGhdT S|
T WGTT FIRTF =R g1 U7 SR |

Section C
f=forfeEa meri & MR R 9@ g vt & W - [4]
Qenid &1ull & Frferd 3reft fomT geafle oft <& 71q 81 gx farferst den Gheft STHIA 3R gch SIEHT ehl B dTedt Ich
TRl H $o-F® 9T g1 S1g YT, STt Uepfd ht 31U R | J1e AdT 8| Fiferd srelt I7 o d o St uepfa & uvre
H 31 Y F91TQ Uhfd aht 31U UHTa | AT o h1del Bid 8 | 377ch o Uepfd # 8 R Teh gadll-Eeld 8
w3 gfrar uadt ot ag g IR 9t Agea @ oruA forg él ot 38k e # 3! Sftaa-areft agHtAT A
HThI A Ugars oY | g1 Tqd & AT | S=1ch! gurdt @t o
i. grferd areft gRefl 1 g o e &? Ieht A9l <Y fastwar & oft? (2)
ii. TEHAT @l off? Ig iferd s1eft &Y Agg hd Hi? (2)
iii. eriar & MR WR Tiferd sreft Fi & fatward faf@wi (1)

foraT Sfiae aret gaTer & uy) ofk A7 & Sl Gay dt gl A fhe dvg ok foRar mar 82 [2]
SIS & <adl ol W gl YT? I fhY UhR TSI 14T UT? [2]
A1 Y sifaw gzt @ oft? Jr ITdT 3T Ot gt geh? [2]
U1 Haw=< & the Sid | &’ 21eg T T foh det ot 3fira eheat & ferg fomam mam g [21
Tieft Sft & AW @ HiA-Y aeg 77 ot ok =T ? AR FIua & T urs & snuR R faf@g) [21
frferfea Fraiv & SR ® 9@ 71 usl & SR dfSig- [4]
¢ ruet 3 1M g TER

‘TR e iy =l

et SrgeTs idT 3ie g1 fhamr &Y,

EXTTT AT ATAT UTHT URT 9R & |

AY MY §S §9-&1 h Hax h|

i. STpd oar 4 A9 @ 1 AT hY R H? (2)
i, ST 3R dreTE A YR G Y wuRisH @1 uterH fhe wu # fohar, Tuw hifSgi (2)
iil. diuet ot fore =0 A R foran mar 82 39 AY a1 @ma &3 fRar (1)
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13.
14.
15.
16.
17.
18.

19.

'HTGRIER' € PR T T T 8?2
Hfd ol piaer & Isaf af gY 38t 82
YRS ohl TEAT T gl AT 8?2
B QM TR STH H -7 G I=17 gl & 3R Fa1?
g EAT T eted! SR Hfdar & SMYR R drdTe i fgar hdt oAf? ag 3rgar fAdR »a d=dr oAf1?
T MUT UHTE ASh-ASfhal sl HTT 3T § d@dr g? TE i
OR

ATE aTefl & UTg 3707 378 T §R |1 & IR | 1T e ol HY 1 g1 U1?

Section D

31 H AT YEER WR Afgd 3R g & s & sftw gk are darg ol farfagl

[2]
[2]
[2]
[2]
[2]
[3]

[5]
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CLASS 09 - MATHEMATICS
PERIODIC TEST - III 2019-2020

Time Allowed: 1 hour and 30 minutes

General Instructions:

Maximum Marks: 40

Section A
1.  Thevalue of X’ in 3 + 2* = (64)% + (27)% is [1]
a) 14 b) 8
c)5 d) 3
2. The zero of the polynomial (z — 2)%? — (z + 2)% is [1]
a) 0 b) 2
01 d -2
3.  The co-ordinates of the origin are [1]
a) (2,2) b) (0, 0)
c) (0,2) d (2,0)
4.  The name of each part of the plane formed by the two lines in the Cartesian plane is [1]
a) x-axis b) origin
) quadrant d) y-axis
5.  The force applied on a body is directly proportional to the acceleration produced on it. The [1]
equation to represent the above statement is
a) y = kx b)y=x
0y+x=0 d) none of these
Find the measure of the complementary angle of 60°. [1]

In the given figure, if AC is bisector of ABAD, such that AD = AB =3 cm and AC =5 cm. Show [1]

that AABC =/\ ADC and BC = CD.

B
3
5 cm
. C
i
Cry
D
8.  Can all the angles of a quadrilateral be right angles? Give reason for your answer. [1]

9. Inthe figure, ZABC = 40° then find ZADC

[1]
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10.

11.

12.
13.

14.
15.

16.
17.

18.
19.

20.

The base and the corresponding altitude of a parallelogram are 10 cm and 7 cm, respectively.
Find its area.
Section B
Is (x + 1) is a factor of given polynomial p(x) = x3 - x% - (2 + V2)x +4/2?
Construct a triangle ABC where BC =5 cm, /B = 30° and AC - BC = 2 cm.
Using Heron's formula, find the area of an equilateral triangle the length of whose one side is

a.
Section C
. . V243
Find the values of a and b in each of 3Vi 23 2 — b\/g

In figure, bisectors GM and HL of alternate angles AGH and DHG respectively are parallel to
each other. Prove that AB | | CD.

In a parallelogram, if a diagonal bisects one angle, prove that it also bisects the opposite angle.

Construct the Perpendicular bisector of line segment of length 12.5 cm
Section D
Ifa+b+c=5andab +bc + ca = 10, then prove that a® + b3 + ¢ — 3abc = —25
Show that EFGH is a | |gram and its area is half of the area of |[gram ABCD. IfE, F, G, H are
respectively the midpoints of the sides AB, BC, CD and DA.

D G I

F B

If two equal chords of a circle intersect within a circle, prove that the segments of one chord

are equal to corresponding segments of the other chord.

[1]

[2]
[2]
[2]

[3]
[3]

[3]
[3]

[4]
[4]

[4]
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Time Allowed: 1 hour and 30 minutes

ATOMIC ENERGY CENTRAL SCHOOL NO.4
RAWATBHATA

CLASS 09 - SCIENCE
periodic test-III (2019-20)

General Instructions:

© o N =

10.

Draw labeled diagrams wherever asked to do so.

Section A

A gas can be best liquefied:
a) By increasing the temperature. b) By increasing the temperature and

reducing the pressure .

¢) By increasing the pressure and d) By lowering the pressure.
reducing the temperature.
A particle is moving in a circular path of radius r. The displacement after half a circle would
be
a) 2r b) 27r

c) r d) zero

According to the third law of motion, action and reaction

a) act on either body at normal to each b) always act on different bodies in
other opposite directions
¢) have same magnitude and direction d) always act on the same body

If density of water is 103 kg /m3 and density of copper is 8.9 x 103 kg /m3 .What is the relative

density of copper?

a)4.9 b) 8.9
c) 9.8 d) 14.8

Which of the statements is correct?

a) Mass is constant and weight is b) Both Mass and weight are variable.
variable

c) Mass is variable and weight is d) Both Mass and weight are constant.
constant.

State law of conservation of Mass?

Name the two organelles that contain their own genetic material?

Name one high milk yielding breed of cow and one of buffalo respectively.
What is the main benefit of mixed cropping?

When is the acceleration taken as negative?

Maximum Marks: 40

[1]

[1]

[1]

[1]

[1]

[1]
[1]
[1]
[1]
[1]
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11.

12.
13.

14.
15.

16.

17.

18.

Section B
Explain why some of the leaves may get detached from a tree if we vigorously shake its 3]
branch.
OR

A car of mass 1000 kg moving with a velocity of 45 km h'! collides with a tree and comes to rest in
5s. What will be the force exerted by the car on the tree?

Define latent heat of vaporization and latent heat of fusion. [3]
If 6.3 g of sodium bicarbonate are added to 15.0 g of ethanoic acid (or acetic acid ) solution, the [3]
residue left is found to weight 18.0 g. What mass of CO,is released in the reaction ?

OR
(a)The valency of an element X is 4.work out the formula of its oxide and chloride.
(b) Define atomicity.
Draw a labelled diagram of the neuron.Also write one difference between bone and cartilage. [3]
Why are antibiotics not effective for viral disease.Also mention why antibiotics are used to 3]
treat bacterial diseases?

OR
What are the constituents of a balanced diet?

Section C

Look at the activities listed below. Reason out whether or not work is done in the light of your [5]
understanding of the term ‘work’.
(a) Suma is swimming in a pond.
(b) A donkey is carrying a load on its back.
(c) A wind-mill is lifting water from a well.
(d) A green plant is carrying out photosynthesis.
(e) An engine is pulling a train.
(f) Food grains are getting dried in the sun.
(g) A sailboat is moving due to wind energy.

OR

i. Define kinetic energy of an object. Can kinetic energy of an object be negative? Give reason.
ii. A car weighing 1200 kg is uniformly accelerated from rest and covers a distance of 40m in 5 s.
Calculate the work the car engine had to do during this time.

[5]
i. Give any one application of centrifugation and chromatography.
ii. Why crystallisation is better technique than simple evaporation to purify solids?
1. State two characteristic features of amphibians. [5]

ii. Identify the following organisms.

a. Cold-blooded animals that lay eggs in water and have a three-chambered heart
b. A spiny skinned organism which has a peculiar water-driven tube system that they use
for moving around.

c. Organisms that have an open circulatory system having a blood-filled coelomic cavity.

2/2



Time Allowed: 1 hour and 30 minutes

CLASS 09 - SOCIAL SCIENCE
Periodic Test III (2019-20)

Section A
Arrange the following in correct sequence with respect to the period in which the event
occurred:
1. Nazi Party became the largest party with 37 percent votes.
ii. Hitler planned to seize control of Bavaria.
iii. Adolf Hitler born in Austria.
iv. The Nazi Party got not more than 2. 6 percent votes in the Reichstag.

a) iii, ii, 1 ,iv b) iv, iii, ii, i
c) iii, ii, iv, i d) i, iii, iv, ii
Arrange the following in correct sequence:

i. Adolf Hitler born in Austria
ii. First World War begins
iii. Weimar Republic established
iv. Treaty of Versailles

a) iii, 1, iv, ii b) iii, i, 1, iv

c) 1, iv, iii, ii d) i, ii, iii, iv

Identify the incorrect option.

a) The disappearance of forests is b) Deforestation is not a recent
referred to as afforestation. problem.

¢) Under colonial rule, deforestation d) The process of deforestation began
became more systematic and many centuries ago.
extensive.

Which of the following is true with reference to the people of Bastar ?
A. They show respect to the spirit of the river, forests and the mountain.

B. They supported the British when the government decided to reserve two-thirds of the

forests.
a) A is true but B is false. b) Both A and B are true.
c) A is false but B is true. d) Both A and B are false.

Which of the following two states are affected by pre-monsoon showers ?a. Kerala, Karnataka

b.Punjab, Haryana c.Kerala, Punjab d.Haryana, Rajasthan
a) Kerala, Punjab b) Kerala, Karnataka

¢) Punjab, Haryana d) Haryana, Rajasthan

Maximum Marks: 40

[1]

[1]

[1]

[1]

[1]
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10.

11.

12.

13.

14.

15.

16.

How will you define climate?
Name any two useful trees of the Thorn Forests.
Name any two biosphere reserves.
What are the legal declarations of a party candidate?
What is BPL (Below Poverty Line)?
Section B
How did the changes in forest management during the colonial period affect the lives of
nomadic and pastoral communities?
How has the photoperiod influence the vegetation cover of India?
What is Mid-Term and By-Elections?
OR
What are the drawbacks of elections?
Explain the principle measures taken in Punjab, Kerala and West Bengal to reduce poverty.
OR
What are the conditions of MGNREGA?
Two features A and B are marked in the given political map of India. Identify these features
with the help of the following information and write their correct names on the lines marked

on the map.

i. A Forest type
ii. A Forest Type
On the same political map locate and label the following
iii. Kaziranga National Park

u r__.‘l"‘"‘\\
S INDIA
7 Fi GUTLINE MAP [POLITICAL)
| o
i #
: 2
N gl
T
./J . %)
o s i \\? ﬁﬁz‘j
i "
I - & i
P J I = r/"'#'
{/ . -‘-ﬂ\ i L__. — 1
] At h /
L ' S ) O
Y s i — I f
r_'.,..__;} ; i {"; &
LA !T
s Ll
SRR
" ; Bay
Lq,] of
Arabian Bengal
Sen
Irkeraticnal Roamdlary
Laptw Binanallary
i e i e
[ i
INDIAN DCEAN 'W’"i'u;‘iiw:.t"mr.--.

Section C
Explain how did the lives of forest-dwellers change after the forest department took over

[1]
[1]
[1]
[1]
[1]
[3]
[3]
[3]
[3]

[3]

[5]
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17.

18.

control of the forests? Mention any five points.

What kind of education was given in Nazi schools? [5]1
OR

"Politically, the Weimer Republic was fragile". Explain.

Discuss the mechanism of monsoons. [5]
OR

How far it is correct to say that both the pressure and the wind conditions over India are unique?

What information would you use to support your answer?

3/3



Solution
Class 09 - Hindi A
PERIODIC TEST - III 2019-2020

Section A
1. i omyfie g & GXpfaal & TR IO URY 811 &1 U@ HRUT IE ¢ foh =1 Sepfaat & Mare o & sRor sifdshaor g fajty
w@rfae 8
ii. g7 Sl TEpfa o ufa 2ierTq 38y 81 g 8, ifes 7% WY A fad:ft Txpfa & 5@ Il ot Wi R &A1 URW S AT g1
iii. IET TR AT gAR Ul T Y &7 T & o a8 & o1 Ay oY Rt ofR Afa-Aif & S Tt B
iv. g9 STt Tiepfieh Tu=T T Il FHIAIY et B Tehd, Filfeh U A F g7 Tefag did & TuH g I
v. Sfifer- 1Rt T&pfd ot daRes dead)
Section B

2. Jugf
i. Tqof = ‘g Iuwf ok 'quf get erea @ |
ii. wfafe = "ofer Suet 'R get wreg € |
iii. STRIET = "31 IuTT Vgl T A § |
ugy
1. ¢4 + g = Y=g
2. foed + o1g = ufvears
3. B + 3T = BfrdT
3. 1. RER = Yl @R (rgdiE 99
ii. ARGTAR =ARE &1 I aTelT (T THTH)
iii. TR = IR T (G T )
iv. Befier = I ient o1 TARR (fE 7] 99T9)
4. 1 1 UHars a
1i. SR IRy
iii. fqeaTaes arer
II. i o7 A=\ ST eIt 872
ii. Tvaa: MifReT SIS 3 @) it 31UaT IS AT ASTS H Wi gl
iii. 1T GHR gG @I Bl
5. i. MUY 3R
ii. Icer SRR
iii. G&g SrARR
iv. sifasaifh sfap R
V. gHh eich R
Section C

6. i ferd sreft uffig eft-Ueft &1 3 ufeat Y @ier # qr-gx o A WY IR SR 3 A1 3 G T TRINT GR-&1aT o6 ufard &
ger AR1eror & oI TRt ahd 31 3 IREH R S o | Ik A9l | U d Y e i hT STIg_ AT| IehT AA9T faifdsT 3R s
dh T | SehT AGE it i
ii. I TIfer St bl TEUIfS oft| a1e F 3 Aifers Sreft Y Sfiaw TR o+ | Tfer areht & iy U fa GargRedt ofk Tl ¥ v g8
TRIETA A9 3Tt At Tepfa & aif=reg & I o+t Goh e gHaT a8 ot 51 - F qgeien = Ieh! #ag ahl |
iii. TEriRT & SMMYR R Aiferd 3t &t gt fatwand F=fafea § -
1. TifciH Steft T U T 98 oTa o1 3R 3 ITchT FRET 3R TReTuT & foiy ghen fKifda 8 I
2. ufexat Y WISt 3d §U d ITch IR H 3-8 STHehRAT Yeh fAid hd & R I7ch TLEI0T & foly TR T8 U
7. fhEH 1 Sfiaw @t IR SR gidT & | @it ugystt & &1 seva g | O] SMieenTel 4 gt Agsal o 9t <@ €1 Asa = s ot 38 o
Rer & forg urel at s ot enfefer @1 o i) foham-Sftem & fham gaf 9o, dig g, art Wiem 9 9art &3 & g 7=
TRL37T T TANT T 81 U] it 319+ TR & iy AFa-STfd )R MR §d 81 gH A 3R 370 Sl 9 TR 3l 8 a2l I9ch @ UH T
I @A & | ER-AN +ft I T Igd G T 8 3R §X THT hTH e h [lY dAREA & | 3 & I g Jied R fosra urd gu oF
T H dlet T h TR Y HET F1d g 3R Alcen? I h U 37T ST 8
8. SIS o TdT oh1 I 3T TNET TR T ST T Sl Y| I WIH oh! STHAR) eh! gigal SR T UeeRl o &3 & TSI 71T AT| Fgi R STHeR|
& G fi g Y | 3TF U F-feA HU Y ST s 7 off
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9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

T T8 <hT Gt AT T 30 HEd & Sgd oTa AT| 39 A h! SHUST = STeifen T8 Y T UT| I8 39 UG oh =AY R d&HhT
FS & I 1Rl 2| 5Tk oY I AT Al R TR 313 7 I SRR SR el o1 AT Y SifdH ST URR QA A 8t
Geh |

A 1 nfegen o1 & Sraiy , VT 3reRty Y ATGT A8 oI Tehdll UIS & et {168 o1 TN e & Sfia= & 31 aref 37 shfd-sat
& forg foha 8 STt o & dfed, QRife, Hierdl, SR onfe & fid Scharl gRT @<l 1 51 37ch HROT &1 TATST J SI-+19 hl
eI, STTf-Uitd, ST, JTel-faarg, Mo, 30 faarg, SHR-TRIE &l via=T 31 Eet o ¥ J @Sl g1 TS Y I=I1d o AT 1
ITTG BN g

ST HATSIIET hT ST H STUAT TNIGH &d I Teh R Tiieft St Selrgrene df@ent o SHmear | Mg o | @f&erT A 579 IagYad el Sft
T AT RERR H A1 Aqenfier Aidt s e femmr, dt 7iiedt Sft = ag ey /i foran) 3 sral qur <21 & AFRST & 39 UhR Ui
Y SR 4= 3N T, I TcsIal ST hT HEg hd ¥, STt 37 el ST e & forg wad e 38 21

i. G Iar Fafdarfar & St A T ufd F oo gt fokg v S B ot IT R d W@y Ay Y el fh aof &g g & g
3773 13T T 39T hgT aRdifch Y T AgHH S T81 Sish et ¥R d1¢ T 8
ii. 1T 3R AT A YR TR T W &1 urer [ w0 A fhar-
1. a1 (Fafdanfgan) TR & SS-ggi oht IufRAfA & Ag Tt 31 ufdt & T+ g1 g SR foharg &Y siie & Sad a1 T
2. 79 & AgAM & R Yed & g arerd (2R 1 dew) Geil-geft wra # gt oR «m)

iii. diue ht BR 1G9 opif 3R GHFHIT T & FU H JdT g1 I HY 1 WRTd 1Y STied §Q 3IH Sgehr fohar |
AR 9 5 AT M A7 TR WeR T 8| T90 oo TR T e 91§37 ¢ | $9 WS STl H SHaredr Ut g9 0 Wikh 7 o=
BiehT Teee, Gieh? Gihedl Tehithel 38 &1 U SHEEch WM th! Bighy & g5 STHT 78! =igd|
& ot HIge T 3T $97 81 W@l & Hifch o Idel WAFAdTgdh et STHH | 370! IS HR @1 & STdich ohfd T TR &F e T
H1SY H [OHe A 18| STel Rt A U T g-9) STeft TR STUHT GGl ST § 31 ¢ Tl hid chl dhTel hidY B g1 TS BT 8l
HIIA T T Ml TR U G 1 ATt @ R i 1t A1 off 18 AT S g1
Hfa 7 gUR ST ot 7T ST HET & Hlfch hfd T R H STUHT ATTHH T TcdsIdT o I Y ST IS 1S JH el 8, FIg
Y 3Tl I fIU e 81 8| o fa wrefiqar Tt &1 s fa A 331 Y Tod=ar & I SmarsT 3378 & sufeiv gy feat 3 fw s 7
BIehT TG & T8 8|
& T Sfipwr & 3= o<k &1 3 37U 7] S ™07 T A U ATed &1 @ Iiad € fob afe 3% omTel SR # UeeR A O
gg 34 Mad udd 1 UeeR a4 fOF 2l sor =1 Srut JrTeft IR 38T shifdd 35 o g J sIoTanad] chi &1 & ot
drerTe Y RIRSAT ST AT STl ATl a8 IR off, foiach U the T dfa diel! off | S &) a8 Uil oh Idg IR 1S Aol qEd! oY, S W
FUST AR <ot oft| a8 S Srueft dieft o & garen? smepmr & 3 1Kt ot
TUT TTE hl G TATST & folg i@ T8l 81 a8 dSch auT Tsfchdl ot G0 e I 8l aRE-avE & dch 4oy ASh-aTSichdl | 3faR
FATh GERI 1 IR & | IThT A & foh TSah! Sl ugT-fora1 T1fey, hifed ST T1fey Stafh dsfohat T ggI-foraar
IATH ol g difch Ig BR gl dt T g | STt a1 & THT0T § dg Shgdl & fob AR & U gid &, TR & i, IR & a1eT gid &, A=A
& et

OR
HIET dTelt TATST & A d TR HoTg o T Ui &l 81 a8 og Sied! ISR AIERAM STt JuT gt § eher et 3R fAgh
Hfgd e IR IR @ Mg # TR-5R gl o1 50k dact # AN I Toh-al Gt AT o fi-ap ot arerr-aredt @t a1 9 & &1 I S7ot
R ufd &t f&ar oft gt ot 3T Tt oft agt el ot eroeh it ieaat et eroelt e o ag fSig o <@ ot O F Sk
U™ 37U 316 IT R AFY o IR H G- 1 STT&T 97T 7 o7

Section D

Aifgd-3R YS! AT IN § ? S S ol 7T 3@ 8t ?
UG A-HAT TN Alfpd & H YEAR ot FHT ! Hifd heAdT 81 STTET 8 |
Aifgd - Tg g7 T HE W@ &1 YR & HRUT AT GART ST g g1 T 8|
UG - T I1d 8, Alfed, gH df A I1d GAh H© SITaT ol IR 81 MY BT | HB g3 8 HT?
A - Uk a1 & g, gH Sdeh T gH YEEIR I T g1 81?2 o1 JFERI Ta% S Sleh-STeh Il 38T 8?2
UG - Tol, IR! Slh-3Teh FAT IAN? T HUAT hTH ol R Bl AT g |
Aifgd - F1? gH AT h HY RepTerd g2 s gr oft sro v R & g yeranRa ot ggrar a8l
UG - AT § TR T h?
Hifed - Sier & A A% g I ToTE! F yerRat & Ay el @ TRl
UG - 81 IR, & TGS BIS &I g ol OIS Tehd! 31T T H fhet apt oft Rega =18 gam
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Solution
Class 09 - Mathematics
PERIODIC TEST - III 2019-2020

Section A
1. @3
1 1
3+27=(64)>+(27)3
=34+27=4/64++/27
Explanation: =3+27=8+3
=27 =8=2°
equating both,
=3
2. (@O
Explanation: (z — 2)? — (z + 2)?
=(z—2+z+2)(z—2—x—2) [Using identity a? — b% = (a + b) (a — b)]
= (2z) (—4)
= -8z
Then the zero is
—8x =0
=> €Tr = O
3. (@O0

Explanation: In co-ordinate,
there are two Axis one is X axis and other is y axis, the point of intersection of both x-axis and y-axis is
origin.
Coordinate of origin is always (0,0)
4. (c) quadrant
Explanation: In the Cartesian plane, there are two Axis one is x axis and other is y axis.
when the both Axis cut one another it forms four quadrant( quadrant 1,2,3and 4)

5 (@y=kx
Explanation: let force applied be y and accleration produced be x
The force applied on a body is directly proportional to the acceleration produced on it.

yox

y=kx
where k is proportionality constant

6. The measure of the complementary angle x = (90° — r°)
Where r° = given measurement
~ X =(90°-60°) = 30°
7. In AABC and AADC,
Z/ABC = ZADC [each 90°]
AB = AD [given]
and AC = AC [common side]
.. AABC = AADC [by RHS congruence rule]
Then, BC = DC [byCPCT]
Hence proved.
8. Yes, all the angles of a quadrilateral can be right angles. Angles sum of a quadrilateral will be 360°, which is
true.
9..". ZABC + ZADC = 180° (*." Opposite angles of a cyclic quadrilateral are supplementary)

Z/ADC =180°- ZABC
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10.

11.

12.

13.

14.

15.

=180° - 40° = 140°
The base of parallelogram =10 cm and the corresponding altitude = 7 cm.
Area of parallelogram = Base X Corresponding altitude
=10 x 7 =70 cm?.

Section B
Letp(x)=x3-x2-(2 + \/§)X+ \/§
The zero of x + 1is-1
PED) = (13- (12 - @+ V(D) +y/2=-1-1+2+y/2+y/2=2+2V2 £ 0
.". By factor theorem, x + 1 is not a factor of x3-x2-(2+ \/§)X + \/§
Given: In AABC,BC =5 cm, B =30° and AC-BC =2 cm.
Required: To construct the AABC
Steps of construction :

i. Draw the base BC = 5 cm.
ii. At the point B construct an /XBC = 30°

iii. Cutline segment BD equal to AC — AB = 2 cm. on the line XB extended or opposite side of line segment BC.

iv. Join DC and draw the perpendicular bisector, say PQ of DC.
v. Let PQ intersect BX at A.
vi. Join AC.
ABC is the required triangle.
'a'=a,'b'=a,'c'=a

/a!+b!+/cl
g= atata _ 3a
2 2

.". Area of the equilateral triangle

= \/s (s—"a')(s—"V)(s—"{)
VEG-9E-a 3 -9
VEE)()6)

V3a’®

4

square units.
Section C

LHS — V2+4/3 _ V2+4/3 y 3v2+24/3
3v2-2v3  3v2-23 7 3v2+23
_ (V2+v3)(3v2+2V3)
BV -3
_ 6+26+3,6+6
18—12
_ 12+65\/6 _9 5%
Now,2—b\/6:2+%\/6:>b: —%
GM || HL....[Given]
As transversal EF intersects them
.. ZMGH = ZGHL. . . [Alternate angles]
.. 2/MGH = 2/GHL
.. ZAGH = /DHG. .. .[GM bisects the ZAGH and HL bisects the angle /DHG]
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16.

17.

18.

19.

These angles form a pair of equal alternate angles for lines AB and CD and transversal EF.

.AB || CD

Given: A parallelogram ABCD in which diagonal AC bisects ZA
D, 7C

L

To Prove: AC bisects ZC.

Proof : ABCD is a parallelogram, so AB | | DC and AD || BC
.. Z1=/3...[Alternate interior angles] ... (1) As AB | | DC
.. Z2=/4...[Alternate interior angles] ... (2) As AD || BC
But /1=/2...[As ACbisects LA] ... (3)
/3=/4...[From (1), (2), (3)]

.". AC bisects ZC.

Steps of construction:

i. Draw a line segment AB of length 12.5cm
ii. Taking A as a centre and arc of radius more than %AB draw both sides of AB

iii. Again taking B as a centre and arc of previous radius draw both sides of AB which intersect previous arcs

atCandD
iv. Join CD, which intersect AB at O.
v. Point O bisects AB.
Section D
As we know,
a®+ b+ ¢ —3abc=(a+b+c)(a® +b* +c* — ab—bc— ca)
=(a+b+c)[a®+b*+c*— (ab+bc+ ca)]
=5{a®+ b +c®—(ab+bc+ca)}
=5(a2+b2+c2—10)
Now,a+b+c=5
Squaring both sides, we get
(a+b+c)? =5
= a?+ b+ +2(ab+bc+ca) =25
a4+ b2+ +2(10) = 25
=a?2+ b +c?=25-20=5
Now, a® + b% + ¢® — 3abc = 5 (a? + b% + ¢? — 10)
=5(5—10) =5(—5) = —25
Hence, proved.
Join AC and HF
E and F are the mid-points of AB and BC
- EF =2 ACand EF || AC...()
Similarly, GH = 2 AC and GH || AC ...(ii)
From (i) and (i)
GH = EF and GH || EF
..EFGH s a ||gram
ar (AHGF) = %ar (|lgram HDFC) ...(iii)
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20.

ar (AHEF) = %ar(”gmm HABF) ...(iv)
Adding (iii) and (iv),

ar (AHGF) + ar (AHEF)

= %ar (|lgram HDCF) + ar(||gram HABF)

= ar(||gram EFGH) %are(”gmm ABCD)

Given: Let AB and CD are two equal chords of a circle of centers
O intersecting each other at point E within the circle.

To prove: (a) AE = CE (b) BE = DE

Construction: Draw OM | AB, ON _L CD. Also join OE.

B A
NS

Proof: In right triangles OME and ONE,
Z/OME = ZONE = 90°
OM = ON

[Equal chords are equidistance from the centre]
OE = OE [Common]
.". AOME =2 AONE [RHS rule of congruency]
.". ME = NE [By CPCT] ...(Q)
Now, O is the centre of circle and OM | AB
CCAM = % AB [Perpendicular from the centre bisects the chord] ...(ii)
similarly, NC = 3 CD ...(ii)
But AB = CD [Given]
From eq. (ii) and (iii), AM = NC ...(iv)
Also MB =DN ...(v)
Adding (i) and (iv), we get,
AM + ME = NC + NE
=> AE = CE [Proved part (a)]
Now AB = CD [Given] ...(v)
AE = CE [Proved] ...(vi)
Subtracting eq. (vi) from eq. (v), we have
= AB-AE=CD-CE
= BE = DE [Proved part (b)]
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Solution
Class 09 - Science

periodic test-III (2019-20)
Section A

1. (c) By increasing the pressure and reducing the temperature.
Explanation: The physical state of matter is defined by the intermolecular spaces between them. The gases
have the highest empty space between them while the liquids have comparatively lower space. Hence the
gases can be liquefied by reducing the gap between the molecules. This can be done either by reducing the
temperature or increasing the pressure.

2. (@z2r
Explanation: Given, after half the circle, the particle will reach the diametrically opposite point i.e., from
point A to point 6. And we know displacement is shortest path between initial and final point.
Displacement after half circle = AB=0A + OB ['." Given, OA and OB =r]

=r+r=2r
Hence, the displacement after half circle is 2r.

3. (b) always act on different bodies in opposite directions
Explanation: According to Newton's 3rd law of motion, action and reaction are of equal magnitude and
directed in opposite direction.

4. ()89

Density of copper 89 X 10° kg /m3 — 89
Explanation: Relative density = Density of water 10° kg /m? '

5. (@) Mass is constant and weight is variable
Explanation: Mass is an independent quantity but weight is dependent on gravity.As the gravity changes,
weight also change.

6. According to the law of conservation of Mass, mass can neither be created nor be destroyed in a chemical
reaction.The law of conservation of mass means that in a chemical reaction, the total mass of products is
equal to the total mass of reactants. There is no change in mass during a chemical reaction.

7. Chloroplast and Mitochondria.

8. Karan—-swiss and Murrah respectively.

9. It reduces production risk and gives insurance against failure of all the crops.

10. If the velocity of an object decreases, then the object is said to be moving with negative acceleration. It is also
called retardation.
Section B
11. When the branch is suddenly set in motion, the leaves attached to it tend to continue in their state of rest
because of inertia of rest. It generates a lot of strain at the junction of leaves and the branch. Because of this
strain some leaves get detached from the branch.

OR
Initial velocity of car = 45 km h-1
= 5 - 225 1
=45 X {3 =95 ms
Final velocity of the car (v) =0
Time (1) =5s

Mass of the car (m) = 1000 kg
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12.

13.

14.

15.

Force exerted by the tree on the car
225
) 1000x (0— F)

F: =

t 5
_ —1000x225 _
=0 - -2500 N

Hence force exerted by the car on tree

=-(F) =-(-2500 N) = 2500 N

Latent heat of vaporization is the amount of heat energy that is required to change 1 kg of a liquid into gas at
atmospheric pressure at its boiling point, i.e. without changing its state.

Latent heat of fusion is the amount of heat energy that is required to change 1 kg of a solid into liquid at
atmospheric pressure at its melting point, i.e. without changing its state.

The chemical reaction leading to products is :

sodium bhicarbonate + ethanoic acid — sodium ethanoate solution + carbon dioxide

(residue left) (released)

Mass of reactants = (6.3 +15.0) =21.3 g

Mass of products = Mass of residue + Mass of carbon dioxide released.

=18.0g+xg

According to law of conservation of mass,

Mass of reactants = Mass of products

21.3g=(18.0+x) g

orx=213-18.0=33¢g

. Mass of carbon dioxide released =3.3 g

OR
refer NCERT IX SCIENCE lesson 3

DENDRITES
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CYTON
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NUGLEUS OF
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MUSCLE y Sx, ARBORISAION

Part of neurin,
Antibiotics block the bacterial pathways without affecting the pathways of humans. In the case of viruses,
they have very few biochemical pathways of their own. They use the metabolic machinery of host and grow
and reproduce. Since these biochemical processes are the targets of antibiotics, antibiotics do not work on
viruses.

OR
Balanced diet: The diet which contains adequate amount of all nutrients is known as balanced diet.
Main constituents of a balanced diet are as follows:

a. Carbohydrate: It provides 50-70% of total energy intake.

b. Fat: For an adult, fat should provide 20% of total energy intake. Children require more fat to provide 50%
of the total energy intake.

c. Proteins: Protein intake should be about 15-20% of the total daily energy intake.

d. Vitamins and minerals

2/3



16.

17.

18.

e. Water
f. Roughage

All these nutrients are necessary for the proper growth and development of an individual.
Section C
Work will be done if a force acts on an object and displacement occurs in the direction of force. According to
this explanation work is done in following activities:
(a) Suma is doing work. She is applying force to move horizontally.
(b) Donkey is not doing any work. Here, the displacement and the force are at 90°.
(c) Work is done by the windmill. The water is lifted against force of gravity.
(d) No work is done by a green plant during photosynthesis.
(e) The engine applies a pulling force on the train, and the train moves in the direction of this force.
Therefore, engine is doing work.
(f) During drying of food grains in the sun no work is done.
(g) Work is done by the air. The sailboat moves in the direction of the force exerted by wind.
OR
i. The energy possessed by a body by virtue of its motion is called its kinetic energy.

No, the kinetic energy of an object cannot be negative because both m and vZ are always positive and KE =

1 .2
va

ii. Given, mass of car m = 1200 kg, Displacement covered, s = 40 m, time taken, t = 5 s, initial velocity, u = 0, W
=?
We know that, W =Fs=maXxs [.°F=mal]
Now, s = ut + % at?
40=0xt+3 x ax (52

40=+ x ax 25
_ 40x2
T 25
J.W=Fs=ma X s

=1200 X 3.2 X 40 =153600]

The work needed to be done by the car engine = 153600 ]

2

a =3.2ms"

i. The steps involved in the process of obtaining pure copper sulphate from an impure sample are as
follows:
» Dissolve copper sulphate in water.
e Add a few drops of dil. H,SO,4 to get a clear solution.

« Heat the solution in China dish till crystallisation point is reached.
» Cool this saturated solution.
» Crystals of pure copper sulphate are formed. Impurities remain behind in the solution.
» Separate these crystals from solution by filtration and dry them.
ii. The method is crystallisation. It is used for the purification of common salt from water.
iii. Soluble impurities can be removed by this technique which is not removed by evaporation.
i. Characteristic features of amphibians are:
a. Respiration either through gills or lungs or skin.
b. The skin has mucus glands.
ii. a. Amphibians
b. Echinoderms
c. Arthropods
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10.

11.

12.

Solution
Class 09 - Social Science

Periodic Test III (2019-20)
Section A

()

iii, ii, iv, 1

Explanation:
iii. In 1889, Adolf Hitler born in Austria.
ii. In 1923, Hitler planned to seize control of Bavaria.
iv. In 1928, the Nazi Party got not more than 2. 6 percent votes in the Reichstag.
i. By 1932, Nazi Party became the largest party with 37 percent votes.
(d) i, ii, iii, iv
Explanation:
i. 20th April, 1889 - Adolf Hitler born in Austria
ii. 1st August, 1914 - First World War begins
iii. 9th November, 1918 - Weimar Republic established
iv. 28th June, 1919 - Treaty of Versailles

(@
The disappearance of forests is referred to as afforestation.

Explanation:
The disappearance of forests is referred to as deforestation.

(a) Ais true but B is false.

Explanation: A.In addition to the Earth, they show respect to the spirits of the river,the forest and the
mountain.

B.When the colonial government proposed to reserve two-thirds of the forest in 1905, and stop shifting
cultivation, hunting and collection of forest produce, the people of Bastar were very worried.They were
against British.

Hence A is true but B is false.

(b) Kerala, Karnataka

Explanation: Towards the close of the summer season,

pre-monsoon showers are common especially, in Kerala and Karnataka. They help in the early ripening of
mangoes, and are often referred to as ‘mango showers’.

. Climates refer to the sum total of weather conditions and variations over a large area for a long period of

time.

. Kikar, babul, khair and date palm.
. Nilgiri (Tamil Nadu, Kerala and Kamataka), Nanda Devi (Uttarakhand).
. Details of assets and liabilities of the candidate and his or her family and Educational qualifications of the

candidate.
In India, the concept of Poverty line is used as a measure of absolute poverty. So BPL (Below Poverty Line) is a
line which demarcate the people, who are living below the poverty from those, who are living above the
poverty line.
Section B
A. The new forest management laws changed the lifestyle of nomadic and pastoral communities.
B. Their natural grazing lands were either changed into agricultural land or reserves.
C. Many communities were classified as criminal tribes.
D. They were forced to settle in the village under strict vigilance.
The duration of sunlight is called photoperiod.It influences the vegetation cover of India in following manner:
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A.The variation in duration of sunlight at different place is due to differences in latitude, altitude, seasons
and duration of the day.
B. Due to longer duration of sunlight, trees grow faster in summer.
13. A. Elections held before the fixed tenure is termed as Mid-Term elections.
B. Sometimes election is held only for one constituency to fill the vacancy caused by death or resignation of a
member. This called a By Election.
OR
A. Able and intelligent persons are afraid of contesting elections.
B. Elections are a very expensive process which is a heavy burden on the people.
C. Sometimes the dynastic trends emerged in the elections.
D. Tickets are distributed to nears and dears of the leaders.
14. Following are the factors that helped Punjab, Kerala and West Bengal in reducing poverty:

i. Punjab: It has succeeded in reducing poverty due to high agricultural growth.
ii. Kerala: It has succeeded in reducing poverty by investing in human resource development. Kerala is the
highest literate state in the country.

iii. West Bengal: In West Bengal, land reform measures have helped in reducing poverty. Operation Barga is
a land reform movement that largely protects the interests of the sharecroppers (Bargadars) and
prevented them from the exploitation of landowners.

OR

(1) The Act provides 100 days assured employment every year to every rural household in 200 districts.

(ii) Under the programme, if an applicant is not provided employment within 15 days, he/she will be entitled

to a daily unemployment allowance.
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Section C
16. The forest department took control of the forests by introducing the Forest Act of 1865 and 1878. In the
following ways, the life of forest -dwellers changed after the Act

i. After this, some people benefitted from the new opportunities, they left their traditional occupations and
started trading in forest products.
ii. From the medieval period onwards Adivasi communities were trading elephants and other goods like
hides, horns, silk cocoons, ivory, bamboo, spices, fibres, grasses, gums, resins, etc.
iii. The British Government took total control of the trade-in forest products. They gave many large European
trading firms the sole right to trade in the forest products of particular areas.
iv. Grazing and hunting by local people were restricted. Many pastoralists and nomadic communities like the
Korava, Karacha, Yerukula of Madras Presidency and Banjaras lost their livelihoods.
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v. Some tribals were branded as 'criminal tribes' and they lost their old occupations and were forced to work
in factories, mines and plantation under government supervision and were offered a very low Wage. In
this way, the lives of forest-dwellers were completely changed after the forest department took over
control of the forests.

17. (i) Jew teachers were dismissed from the schools.
(ii) Children were segregated. Germans and Jews neither could sit together nor play together.
(iii) Subsequently, undesirable children—Jews, the physically handicapped and Gypsies were thrown out of
schools.
(iv) School textbooks were rewritten.
(v) Racial Science was introduced to justify Nazi’s ideas of race.
(vi) Children were taught to be loyal and submissive, to hate the Jews and worship Hitler.
(vii) Boxing was introduced as Hitler believed that it could make children iron hearted, strong and masculine.
OR
A. Politically, too the Weimer republic was Fragile. The Weimer Constitution had some inherent defects,
which made it unstable and vulnerable to dictatorship.
B. One was proportional representation. This made achieving a majority by any one party a near impossible
task, leading to a rule by coalition.
C. Another defect was Article 48, which gave the President the powers to impose emergency, suspend civil
rights and rule by decree.
D. Within its short life the Weimar Republic saw twenty different cabinets lasting on an average 239 days,
and a liberal use Article 48.
E. Yet the crises could not manage. People lost confidence in the democratic parliamentary system, which
seemed to offer no solutions.
18. Following are the factors responsible for the mechanism of monsoon:
- The Sun causes differential heating and cooling of land and water. This creates low pressure on the
landmass of India and high pressure over the ocean surface.
-The Inter Tropical Convergence Zone (ITCZ) is normally positioned about 5°N of the equator. It shifts over
the Ganga plains during summer. It is also known as the monsoon trough during the monsoon season.
- The high pressure area, east of Madagascar is approximately 20°S over the Indian Ocean. This area affects
the Indian Monsoon.
- The Tibetan plateau gets intensely heated during summer. This results in strong vertical air currents and
formation of high pressure over the plateau. This high pressure zone is about 9 km above the sea level.
- The westerly jet stream move to the north of the Himalayas, and the tropical easterly jet stream moves over
the Indian Peninsula during summer.
- The periodic change in pressure conditions between Pacific Ocean and the Indian Ocean that is known as
the Southern Oscillation or SO also affects the monsoon.
- The difference in pressure over Tahiti and Darwin is computed to predict the intensity of the monsoons.
Tahiti (18°5/149°W) lies in the Pacific Ocean and Darwin (12°30'S/131°E) lies in northern Australia. If the
pressure differences are negative, it means a below average and late monsoon.
OR
A. Both the pressure and wind conditions over India are unique. The North of Himalayas has high pressure
during winter season. Cold dry winds blow towards the low pressure areas over the oceans to the south.
B. The low pressure area develops over interior Asia as well as over northwestern India in summer season.
C. This causes a complete reversal of the direction of winds during summer.
D. Air blows from the high-pressure area over the southern Indian Ocean which crosses the equator in the
south-easterly direction.
E. It turns right towards the low pressure areas over the Indian subcontinent. These winds are called the
southern monsoon winds. These winds blow over the warm oceans gathering moisture and bring widespread
rainfall over the mainland of India.
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